ISLEVER

920-125

NNCDS Succession BCM 3.0 Exam

DEMO

https://www.islever.com/920-125.html
https://www.islever.com/nortel.html

For the most up-to-date exam questions and materials, we recommend visiting
our website, where you can access the latest content and resources.



QUESTION NO: 1

A customer wants to purchase a BCM 400 solution. The customer needs to determine both the
number and type of MBM's to purchase to support their extension requirements. They require
support for 24 digital extensions. Additionally, they require support for two fax machines and two
single-line phones. Which MBM combination will best meet their requirements? (Choose two.)

A. One DSM 24 MBM
B. One DSM 32 MBM
C. One ASM 4 MBM
D. One DSM 16 MBM
E. One ASM 8 MBM

Answer: B,E

QUESTION NO: 2

A customer wants to purchase a BCM 3.0 solution. Requirements include: ? two media bay
modules with the capability to add an expansion unit ? redundant power supplies ? RAID 1
mirrored hard disks. Given these criteria, which configuration best fits the requirements?

A. The BCM 200 Redundant Feature Option configuration
B. The BCM 200 Standard configuration
C. The BCM 400 Standard configuration
D. The BCM 400 Redundant Feature Option configuration

Answer: D

QUESTION NO: 3

A BCM 2.5 customer has configured the maximum 500 destination codes for their system. If the
customer upgrades to BCM 3.0, how many destination codes could be configured?

A. 750
B. 500
C. 1000
D. 1200

Answer: B

QUESTION NO: 4




BCM is best suited for what size business?

A. Businesses with multiple sites and greater than 200 users per site
B. Businesses with multiple sites and 100 to 500 users per site.

C. Businesses with multiple sites and less than 20 users per site.

D. Businesses with multiple sites and 20 to 120 users per site.

Answer: D

QUESTION NO: 5

Which statement best describes customer cost saving benefits for implementing a BCM 3.0
converged solution?

A. Sharing the same network infrastructure for both data and VolP clients.

B. Maintaining a converged set of IP services and routing protocols.

C. Sharing the same network infrastructure for VolP and Digital phone sets.

D. Sharing the same infrastructure for supporting both a public and private network.

Answer: A

QUESTION NO: 6
IPSec tunneling protocol on a BCM provides which three features? (Choose three.)

A. VPN client support from a remote computer with Contivity VPN client installed

B. Password storage on Contivity client

C. Branch Office support that allows IPSec connection between two private networks
D. IP address translations via encapsulation

Answer: A,C,D

QUESTION NO: 7
What type of device can be interfaced with an ATA-2 device?

A. The T7316 telephone
B. An analog modem

C. The companion QCM
D. The i2004 telephone

Answer: B




QUESTION NO: 8

Which BCM 3.0 feature redirects the feature set and calls from one IP set to another IP set when
both sets are connected to the same BCM 3.0 switch?

A. Call Forward

B. Hot Desking

C. Call Park

D. Call Redirection

Answer: B

QUESTION NO: 9

A BCM user wants to utilize a Computer Telephony Integration (CTI) application to make call
functions easier to control. The user will be using a hands-free telephone and wants to be able to
access address books, transfer calls, place calls on and off hold, and other basic call functions
from their computer screen. Which service/application can be used to meet these requirements?

A. CTl User for BCM

B. BCM Call Manager

C. Desktop Assistant Pro
D. TAPI

Answer: D

QUESTION NO: 10

A BCM system has numerous IP devices that require frequent address assignments. If an IP
device (sets and/or PC) is moved and then reconnected to the network in a different location, how
can the assignment of a new IP address be automated?

A. download and execute the Desktop Assistant Pro Admin Edition client
B. set up the BCM for Dynamic Host Configuration Protocol (DHCP)

C. download and execute the Desktop Assistant Pro client

D. set up the BCM for IP Assignment Manager Wizard

Answer: B




